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(3) X
4. A child with Learning Disability : 4. Al e SRR At v W

(1) 'I"J'-!i.'H ‘iu be |_pm in o separate (1) 3@ wem # ser s o9 i
mstnon and not in mainstream
schools. &I o T 1

(2)  has a right to study in the regular (2) Fraft Rrerrerg o e weor &t 1
school where there are special Aimr & @ 3ok oo faga
pnwi:-:in!ts for I1i|‘u. e

(3)  should be given vocational
education, but should not be (3) wEaiEE fyrenr 2t stro e 3@ famm
taught science and writing skill. a9 v Hiver 7 framr s

(4)  needs to .bc dealt with scv-::n:l.y @ Y ol & forg o o @R €
and punished harshly for his
mistakes. e SR it STravaE ¢ |

5. Talented and creative children : wfervremedt SR T o= :

(1) need to be given special attention (1) i qot St & 9 a9 e &
to enable them to reach their full far fawim v R s @
potential, AT T € |

(2) are very difficult to deal with and (2) HEER H | agd A B 6 3l
the teacher should be very strict femer At 37 WY FEA B WA
with them. e | _ .

(3) are those children who are @A) faww ﬁ‘“‘q‘ﬁ &, 1 — HETE,
excellent in each area of arfes, g, RS — o
development — cognitive, social, Hﬁiﬂﬁﬁ'ﬁff%’lﬁ.%l
emotional and physical. (4) I=H qﬁa*awaﬁ wie € i s

(4) have a higher 1Q and have better wEgE g.‘]ﬂuil ﬁ'l 7 I oae
social skills than their peers. T P '

6. In a progressive set-up children with T Witerstier sgawen ¥ v srayaeart

special needs : EIGE = o

(1) are segregated from other children (1) ¥ =i § qg& fear Sian & oo
and are allowed to join them only Faer o & vy e R e &
at the meal time. @ A o TR fear s |

(2) are given only '.ruc.atinnal Tmining. 3 HwWT T

(3) a:l ;'Iluwad tt:} mmdg‘I: wg}h tntl:er Pt W amm ot b B} w
children on the condition that they :
behave themselves. i% @ |

(4) are taught along with other (4) S T F W G A E T
children while making special ST SIS ¥ favty e
provisions for their needs. 1 STl & |
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10. According to the theory of cognitive
development given by Piaget, the
teacher has an insignificant role to
play in classrooms.

(1)  Yes, because the child is sure to
develop cognitively as he goes
along the sequence of
development suggested by Piaget.

(2) No, because the teacher supports
and facilitates the active
explorations of the children.

(3) No, because the teacher needs to
perform  administrative  duties
also.

(4)  Yes, because the child constructs
his own view of the world.

11.  Which one of the following is most

12.

effective method for the success of
Continuous and  Comprehensive
Evaluation ?

(1) conducting assessment at the
beginning of and end of the
session '

(2) using a variety of ways to assess
children over a period of time

(3) giving written tests to children
pericdically

(4) having only multiple choice
questions in tests

It is important to appreciate

children’s work rather than criticize
it. This statement is :

(1) correct because no parent can
complain to the teacher that she
scolded her child.

(2) incorrect since appreciation spoils
children.

(3) incorrect since children can
improve their work only when
adults criticize it.

(4) correct since it helps to foster

creativity in children.
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10.

11.

12.

X
gt & ERT wER daEeE G %
fogia & IO FaUF H oHEr o
At € sftreet Frarh gt &

(1) @, =ifer gt g/ geme o e
F Ol W e g0 g w@d @
HaHeTS w9 | faetaa g |

(2 =@, =ife Frw a=2i w0 wfea
@it o TR A & 3 g
e FATE |

(3) @I, it Femde =t gy wie
off X B E |

(4) @, i w=ar g & e F e

& foraml Yt SET AT |
Frefafaa & @ -t gl e s
WA Y ®I Aher & g waifus
T & 7
(1) e ¥ % URY ® #HX g o

T |
(2) T vefeal & waim a7 o= &

e U FHATEY & e S |
(3) THE-HEY W w41 = fofEa oden

o

(4) IET H Haer Tgfased T 3 |

a7 WewEqul ¢ B m= & w1 &
AT & SO WYET W AT | 9%

Y ;

(1) @& e, it it afimes e
¥ g% Tvmmrae 81 ¢ g fF Ie
Ieh! ==l 2T |

(2) 7ew g, s v § 5= farg
W |

(3) T ¥ HEite @=d o@w g
AqHAET FH F € o oS
AFA T & |

(4) w@ & wife g5 5= #§ geeeIear
i Uieafed HEr e |



Scanned by CamScanner



Scanned by CamScanner



Scanned by CamScanner



i

P-11
26.

27.

28.

29.

3“'

A teacher believes that each child is
unique and a special individual, and
therefore actively involves them in
their own education and development.
The teacher is adopting :

(1)  Child — centric education

(2) Method — centric education

(3)  Teacher - centric education

(4) School - centric education

Which one of the following statements

best describes intelligence ?

(1) Intelligence is an undimensional
concept.

(2) Intelligence is influenced only by
heredity. .

(3) Intelligence is influenced by
environment only.

(4) Intelligence is a
dimensional concept.

multi-

Language thought.

(1) istotally independent of
(2) is synonymous with

(3) influences

(4) can be equated with

When parents buy dolls for their
daughters and football for their sons,
their decision reflects :

(1)  Gender constancy

(2) Gender insensitivity

(3) Gender empowerment

(4) Gender stereotyping

In a classroom,

needs to be :

(1) standardized because only then
can assessment be objective and

teaching-learning

valid.

(2) individualized since there are
individual  differences among
‘learners.

(3) individualilzed because leamners
are a homogeneous group:

(4) standardized since learning needs
to be uniform for all the leammers.
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26.

27.

28.

29.

30.

X
e T & € & owEw a=n

g wen faviw T €, sufoT ag 3%
It 2o fven o faer F wfeg w9
| ainfea ST € | 98 AT

(1) =re-ssed forer

(2) - fafu-se famn

(3) ez foem

(4) fToarem- = fm

Prmffaa & - wue gfg #t waww

TEAT AT & 7

(1) g J-ZEmHt SEgRom § |

2) g et st § e e
€t

(3) g e amaER & gaifad sidl € |

(4) dfg U TESTEH! STERO ¢ |

et faa
() Fgfm AT |
(2) HETEFE |

(3) i wfad T € |
(4) WG T EHAE |

W& fiEs Ao i & o e
At gt % e gedt= () wdfied €, at
w1 g FHulg goiar €

(1) s gaeTar

(2) #firs e

(3) i werERr

(@) e wigsg yron

e 7 Tyreror. stfimm =6t

(1) WFSFHa ST 3 9T ik T
A% & e SeeEyel aqur A4y &

HHaOT ¢ |
(2) e s 3 afke wie d@e
aret H safee e et € |
(3) fefire s 31 afer witE dre
AT FET WE € |

(4) WEEHHT T 0 AT wie T
dEt T % fag sfom e
BT T1fET | '
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34,

35.

36.

A bag mutains 5 red balls, 8 white
balls and 4 green balls. If one ball is
drawn at random, then the
probability that it is not green, is :

(1) %
@ =
3) E
(4) %

If abec, bea and cab are three digit
numbers, and

abc + bea + cab = 3x{a+h+c}xk,
then the value of k will be :

(1) 33
2) 37
(3) 111
@ 11

If F, V and E represent the number of
faces, number of vertices and number
of edges respectively of a pyramid
with square base, then the value of

JF+2V+E
is:
(1) 33
(2) 38
(3) 40
4 28

(11)

34,

35.

36.

NE)

X

Tw & H 5 7 1Y, 8 Wik T o 4 7@
% § | afT aged @& iy Frew g, @t
FEE T HT A T B WiEwA

8
(1) Pl
4
17
13
17
5
17

2
(3)

(4)

afF abce, bea ﬂ??:ah?ﬁﬂaiﬁﬂﬁm
£ A

abc+bca+cab=3x(a+b+c)xk¥
At k &1/ &0 ;

(1 33

2 37

(3) 111

@ 11

afx F, V 37 E w9 fedt &t smaw as

fafe & werent, vl AT RFART =

weat ot e e ) at
3F+2V+E

HIAATE:

(n 33
(2) 38
40
(4 28

SPACE FOR ROUGH WORK / 7% &4 & fore simre
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P-11 (15) X
47. Which one of the following is the most 47. I=a wrati® wEwRi § it gteer &
essential  aspect of mathematics o Prefefes 4 @ S wee
Planning in upper primary classes ? HATETAH & ?
(1) Present Mathematical concepts in (1) TiioTetg Hereaerait =t Softag deft o
a hierarchial manner. W ST |
(2)  Write activities in a register for (2) Frarmemt wt e Borer § gt F
reference, for foram |
(3)  Provide learning opportunities to (3) Femifert 3 fiw frart goraed @
allow . learners to construct ITFRT S B e
concepts. ﬁ T “ﬁ? | ﬁ; a- ﬁ
4 “oll
(4)  Follow the sequence of textbook. @) ; ;3 TR SR |
48.  Consider this theorem — 48. WY W AR iR
“If n? is odd, then n is odd”. “afy n? forem &, 7t n frew gt 1
This can be proved by : g s awar
(1)  Contrapositive proof (1) wfafeafy soofs @
(2)  Direct proof (2) weaw Iyt @
(3)  Proof by contradiction (3) oty goofa @
(4)  Method of disproof 4) s (feups fafin &
49.  Which one of the following statements e gmmﬁ‘%ﬁj .
is not true about a Mathematical )
theorem ? (1) vafEmSsrdadamat |
(1) A theorem can be in the form of
plicatiag. (2 v fegfrrstammd
(2) A theorem can be proved. (3) - 3Rk wig fag &t < @ T e
(3) A theorem becomes axiom if R |
proved. 4) v H Y iy Bama ¥
(4) A theorem can be biconditional. @ @ ?ﬁ)
50. Which one of the following 50. HET VI % e § nfefig TGHAT HT
Mathematical processes is an important ﬁ?—mﬂmﬂzﬁﬂ;ﬂi%‘ ?
aspect of algebra in Class VI ? (1) TR T
(1)  Generalisation 4 .
(2) Memorisation )
(3)  Estimation (3) oTmHER HEw
(4) Visualisation (4) HERI e HE

SPACE FOR ROUGH WORK / T% %14 & THT wie
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=P i
3 4

rational number between (x+y)'and

(x'+ylyis:
102
2) -361
204
361
3) —
204
W 2
204

55. 1£0.109 + 0.2 + 0.111 — x+ (0.19 x 0.1)
+ (0.11 + 0.2) = 8 x (10)°", then the

~value of xis :
(1) 0.189
(2) 0.989
(3) 0.998

4) 0.198

(17)

X

54, Arx= iaﬂry= ? Tt (x+y)!

55.

3
AT (' + y"]é‘?mﬁﬂﬁﬁﬂm#:

-361

1
A1 102

-361
2 mi———
(2 204

361

® 204

29

@ 2

g 0.109 + 0.2 + 0.111 — x + (0.19 x 0.1)

+(0.11 + 0.2) = 8 x (10)~' &, A x H A
T

(1) 0.189
(2) 0.989
(3) 0.998

(4) 0.198

SPACE FOR ROUGH WORK / 7% & & forg s
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58.

59,

60.

If V- 2088 x Y1764 = 24 X 2, then
the value of 2 ds ¢

(h 7
(2) -16
(3) 21
(«h) 3

The value of

J
325
(N
48
215
(2)
96
215
3
(3) T
325
(4)
96

Gauray has ¥ {71 ® ll]“} in his account

and his brother has T (27 x 10%) in his
account. If the total amount in their
accounts is written in standard form

as m X 10", then the valucof m+ nis :

(1 7

2) 1118
(3) 127
(4 9

(19)

58.

60.

X
afr Y2688 x Y1764 =24 x 2% 7 2

WA

ny -7
2) -16
3) -21
(4 -3

325
LT
5 215
(2) 96

215
B, S
G 8

325
4 e
(4) =

TRa FaH F T (72 x 10Y) ¥ v =&
TEFEA T 27 x10) T 1o =&

Eﬁi’ﬂﬁﬁ?ﬁ'ﬁmmm x 10"
fmrscSm+nHTEAT:

(n 7

(2) 11.18

(3) 127

4 9

SPACE FOR ROUGH WORK / & &4 & fow wrre
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7.

78.

79.

80.

81.

Planets revolve around the Sun in a
definite path. Arrange the following
planets in the increasing order of their
period of revolution,

(i)  Venus (ii)  Saturn
(iii) Uranus (iv) Earth

(1) (i), (), (i), Giii)
(2) (i), (iv), (iib), (i)
(3) (), (iv), (ii), (iii)
(4) (i), (ii), (iii), (iv)

The melting point of Sulphur is
113 °C and its boiling point is 445 °C.
Which one of the following statements
is incorrect ?

(1) Sulphur is solid at 90 °C.

(2)  Sulphur is liquid at 400 °C.

(3)  Sulphur is liquid at 450 °C.

(4)  Sulphur is solid at 20 °C.

The occurrence of seasons on earth is
due to the fact that :

(1) the earth’s axis is tilted.

(2) the rotation rate of earth changes
during the year.

(3) the earth’s axis points in different
directions during the year.

(4) the earth is closer to the sun
during summers.

In which one of the following, heat is
transferred by the process of
conduction ?

(1) Room heater
(2) from Sun to Earth

(3) from one end of a spoon to the
other end, when dipped in hot tea.

(4) Sea breeze and Land breeze

Each cell in our body contains DNA.
We also have proteins and fats in our
body. What is common among DNA,
proteins and fats ?

(1)  All contain acids.
(2)  All are inorganic.
(3) All are salts.

(4)  All contain bases.

(25)

717.

78.

79.

80.

81.

X
T U fifvad v o g w5 e ERe

Frafafiaa wel &t 39 aftar safa &
AT T A E! A 1 saftad #ifae ;

(i) AH (i) wf
(i) g (v) e
(1)  (iv), (@), (i), (iii)
(2) (i), (iv), (i), (ii)
(3) (i), (iv), (i), (iii)
@) (i), (i), (iii), (iv)

HEHT HT TS 113 °C & 79T F=a=is
445 °C ¥ | Prafefaa o | SF-91 a7
TEA T

() WEHRHIO°CHIFE |

(2) WEHEA00°CIEE |
(3) TEHEA50°CTFAE |
(4) FEC20°CRIFE |

et o Wi ofieE= g ST HEROTE
(1) el 7 37 G G € |
2) o & et @t oA T FEe ¢ |

(3) od o gt & v g Fesr et
BT |

(4) ffEl F gt g & Frepe wet & |

Frefafaa F @ fegd dawm ubear &

s | FE AN g T ?

(1) &AL 8RR

@ WIgER

(3) <@ 99E T 99§ gEE1 Y O
oY & e et F 3ud gEl fat A

(4) FE FHER a9 9o gHR

TAR YR i Ueds Hiyes § LU0 60

T IR TR A TR A amr M g

AT, s A T A T EAE 2

(1) WA e e |

) wHTEAE |

(3) wfiEErd |

(4) THFaREETE |

/
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87.

88.

89.

90.

Which one of the following methods
would be most appropriate for a
constructivist discussion on historical
monuments ?

(1) a question-answer
monuments
photographs of a school picnic lo
a monument

identifying a local monument and
narration of stories around it

a collage of monuments with

labels

chart on

(2)
(3)
(4)
Choose the most suitable reason for

introducing class discussions on a
social science topic.

(1) It keeps students busy.

(2) It tests what students have leamt
from media.

(3) It enables students to relate to the
topic and express themselves.

(4) It reduces the time teachers have

to speak.

Select the most appropriate choice

from the following two statements A

and B :

What is the advantage of asking

questions in a Social Science class ?

A. It assesses students’ understanding
of the concept and recall of ideas
discussed in an earlier class.

B. It assesses how well new ideas have
been understood and ensures its
repetition in students’ own words.

(1) Bonly

(2) BothAandB

(3) Neither A nor B

(49) Aonly

Choose the  most appropriate

statement that describes Social

Science.

(1) A study of individuals and their
achievements

(2) A study of relationships of people
in a context

(3) A study of physical matter

(4) A study of space and quantity

(S AVICIRI NIV | Lly A\ IRRL VICIRI N LAY |

(41)

87.

88.

89.

90.

X
Wfemfow @Rt v T wat # f
;r?ﬁafmﬂﬂ wrr) fuln gag sfe
1

(1) TARE 9T W3 0 e

) R ot g faaren & v fusfon
¥ REUF

(3) TEEa RS F AR B AT
A ST e A

(4) Tt @1 = dfie Hier

R frar fora ot U T ==

w0 % oo was 3faw w9

45 s fenfiqat @t oava T ¥ |

(2) TR wheor Hw ¥ o faenfai =
wifear 4 =7 dian 7

() TR fandt faug & A 3 A 1
i 310 it AT B THA 6 |

(4) wﬁﬁmﬁaﬁiﬁqmaﬁmﬁm |

freffias 2t w99 A W B H ® IR
maﬁqﬁq:

A T F wE § W B g

HTFTATIE ?

A faadt @ sEMwOm ® OFHA A
Ae wET AR qd FAH A gE
T T BT ST |

B, =& faari @ qEH H A BT
iy faanfqdl & i W=t | 3

THETHT |
(1) B
(2) THIA KB
(3) TAHATAB
(4) HgAA
wa IR FUH B T A FEHIID
A FTAUHA AT
(1) =l Td 30 Sueiied i AT |
@ w G # & weEd a7
e |
(3) iifcien TRTEl T AT |
(4) T SR HE H AHTA |
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92.

93.

04.

95.

The candidate was not rejected by
Mr. Koshy as :

(1) he was one of the local people.

(2) his eyés were blue.

(3)  he was old but fresh and erect.

(4) his L hair was white and face

tanned.

Which part of speech is ‘tanned’ in ....
*his face was sufficiently tanned ...’ ?

L]

(1)  Adjective
(2) Verb

(3) Adverb
(4) Noun

What is the antonym of ‘permanent’ ?

(1) temporary
(2) dynamic
(3) uneven
(4) moving

‘... and bearing of a soldier...”

What does ‘bearing’ mean here ?
(1) carrying
(2) courage

(3) knowledge

(4) manner

|
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96.

97.

98.

99.

“The task of finding a new ....

The word, ‘finding’ is a/an :

(1) Verb

(2) Adjective
(3) Adverb
(4) Noun

The lighthouse was built :
(1) onasmall island.

(2) ona popular sea beach.
(3) inastormy sea.

in Malta,

(4)

Mr. Koshy’s job was very difficult as :

(1) it was difficult to make the choice.
(2)  no candidate was good enough.
(3) no one was tall enough.

(4) there was lack of candidates.

Life on the island was comfortable as :

(1)

the keeper could grow his own

food.

(2) food came from the mainland.

(3)  the keeper could have his family
with him.

(4) the keeper could fish in the sea.
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